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PUBLIC COLLEGE SAMANA
SCHOLARSHIP TEST - 2023

Date: 18-10-2023 Time: 10:00 AM —1:00 PM

NOTE: BEFORE STARTING THE TEST, THE CANDIDATE

MUST READ THE FOLLOWING INSTRUCTIONS
CAREFULLY.

INSTRUCTIONS

1. This test booklet contains 16 pages including instruction page and rough pages.
2. The answer sheet is inside this Test Booklet.
3. The test is of 3 hours duration and Test Booklet contains 150 multiple choice questions

(MCQs) having four options with single correct answer as per details given below:
Section A: General Knowledge (50 Questions)
Section B:  Current Affairs (25 Questions)
Section C:  Mental Ability and Reasoning (25 Questions)
Section D:  English (25 Questions)
Section E:  Punjabi (25 Questions)
Each question carries Four (04) marks. For each correct response, the candidate will
get 04 marks. For each incorrect response, one mark will be deducted from the total
score and for unanswered question No mark (0) will be awarded.

5. Multiple answers to any question will be treated as incorrect answer.

9.

Darken the entire bubble completely on answer sheet for each correct answer as shown

below.
Wrong Marking Correct

& o006l e ]

The maximum marks are 600.

Use Blue/Black pen only for writing particulars and marking responses on answer
sheet.

Use of White Fluid for correction is Not permissible on answer sheet.

10.Use of Electronic/Manual calculator is not allowed.
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10.

SECTION - A (Q.No. 1 to 50)

. Who was the president of constituent assembly?

a) Jawaharlal Nehru
b) Rajindra Parsad

¢) Dr. B.R. Amberdkar
d) Rajagopalachari

The word Socialist, Secular and Unity and
Integrity of the Nation’ were added to our
constitution by-

a) 42nd Amendment

b) 44th Amendment

c) 46th Amendment

d) None of the above

Locke was a Philosopher who belongs to:-
a) England b) France
c) Switzerland d) Germany

Right to property now in which Article of the
Indian Constitution.
a) 42

Cc) 246

b) 300A
d) 126

Who appoints the governor of a States in India?
a) Prime Minister of India

b) Council of Minister

¢) Judge of Supreme court

d) President of India

Which article of Indian Constitution has the
provision for National Emergency?

a) Article 350 b) Article 352

c) Article 356 d) Article 360

How many members of upper house (Rajya
Sabha) can be nominated by President of India?
a) 10 b) 12

c) 14 d) 16

Which of the following Amendment is also
known as the Mini Constitution of India:-

a) 7" Amendment b) 42" Amendment
c) 44™ Amendment d) 72th Amendment

Who among the following introduced the
subsidiary alliance system in India?

a) Lord Clive b) Lord Wellesley
c¢) Lord Cunningham d) Lord Canning

Who of the following assisted Bhagat Singh
during the time of Central Assembly Bombing?
a) Naren Gosain b) Bismil Azima badi
¢) Basanta Biswas d) Batukeswar Dutt

1.

10.

Hieos AgT €@ YO's dE AG?

a) ASII &' &fag

b) Ifiea yae

c) 3. =g, wigTag

d) IH IS wgrghr

B3 W3 W3 HET I HTHS a3 JE?
a) L2 Ag g

b) LLF g Tnra

c) L6 HO eI

d) fegst fed adt st

TIAfSS & T AN fIA SH &8 -
a) Ha@3 b) SIH
c) AfScHIs3 d) AIHA

J= AUSt T wifterg 37931 Afeos < far oar ©
s wier 7

a) L2 b) 300A

c) 2L6 d) 126

393 ffT I H © IHUS T fouast de ader
J?

a) 93 T YOS U3t

b) H3dt Has

c) AUIH I T A

d) I3 T IHSIUST

I3 AfeTs & faA orgr & w3393 IHeIT
Here ©F Wiger i3t At 97

a) O'dr 350 b) T 352

c) T'Jr 356 d) O 360

FI3 T IHSIYST ©NIT BUIB AES (I HI")
&9 & Heg svme &3 A I6°7

a) 10 b) 12

c) 14 d) 16

BH &% Afenr Aer I:-

a) 7 AT b) L2 < RO

c) LLT AT d) 72d& RO

< ggw3 SiSt?

a) BI3 ITEE b) TIF BAST
c) BTIIF AfSUH d) &IF aAféar
JedtwiTst St e Al Js fsa iR fam &
313 fiY & AgfesT A3t A2

a) &I& JAE b) fEAMHS weH=<T
c) =A3 faAeH d) Sd3HSd B3
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Who became the first Governor General of the
new dominion of India?
a) C. Rajagopalachari
c) Clement Attlee

b) Lord Mountbatten
d) Rajendra Prasad

In which year, the third battle of Panipat was
fought?
a) 1740
c) 1750

b) 1745
d) 1761

The Indian National Congress was founded by
a) Sir A.O. Hume

b) Lokmanya Tilak

c) Gopal Krishna Gokhale

d) Mahatma Gandhi

Who is the present Governor of Punjab?
a) Bhagwant Singh

b) V P Singh Badnore

¢) Banwarilal Purohirt

d) None of the above

Which region of Punjab does come under the
Ravi and the Beas rivers?

a) Majha b) Malwa

c) Doaba d) Potohar

Which city is founded by Guru Nanak Dev Ji?
a) Kiratpur b) Nankana Sahib
c) Kartarpur d) Khadur Sahib

Who laid the foundation of Amritsar City?
a) Guru Nanak Dev Ji

b) Guru Angad Dev Ji

¢) Guru Amar Das Ji

d) Guru Ram Das Ji

What was the capital of the newly formed Union
of PEPSU?
a) Nabha

c) Faridkot

b) Patiala
d) Jind

The point within the Earth from where
Earthquakes originates?
a) Magnitude

c) Epicenter

b) Origin
d) Focus

The River Basin which is called “Ruhr of India”
IS .......

a) Hoogly

c) Subernarekha

b) Godavari
d) Damodar

Which is the smallest continent in the world?
a) Asia b) Antarctic
c) Europe d) Australia
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e I93 T YIS JRJ6d Aads ae "Sfenf?
a) I IFEUBTS  b) BT HETHTS
c) IBHE WeH d) Ived YAe

Uehy3 ©F A S38 fan 78 B3 I /2
a) 1740 b) 17L5
c) 1750 d) 1761

e SHas SIgR SF AEUST far eargr
CIEIGIERe

a) HHQ.@.T‘E@H

b) JaH e 33

c) Eﬁ’—l"&%{ﬂ?’im

d) HI3HT Irdt

U T AT aIeged dF I?
a) SJ=3 fAY

b) @ni fiwy ge&9

c) SIS YIII3

d) Sudas &9 It st

A T {993 839 g< w3 oA Tfowret @
s weer 37

a) Hs" b) H&

c) T d) Us3I9

g &6 T Al & fqa3T "igg Afenr /2
a) SI3Ygd b) S&Er A
c) II3IUI d) ¥gd Afgs
wif{3HI Higg & Slg fam & It Hr?

a) Id &'ad 22 H

b) I niIre << At

c) I WHITH At

d) I IHEH H

g & &< S5t gahis < IHTral off H?
a) &9 b) Ufensr

c) Idiede d) #e

g3t © vieg 89 e fHE 3o & €3ust I
J?

a) 3=EI3T b) HS

c) BT AET d) G T HES
(G=H)

o g AR § "g93 T gaa” o Aer J?

a) gIH b) Jeredt

c) FEISIHT d) EHeg

TS T 7 3 8¢ Hoe faggr 37

a) BHM b) wiergdfcar

c) Gay d) WHSHMT
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On which River Pong Dam is constructed?
a) Ravi b) Beas
c) Sutlej d) Ganga

11" July is celebrated as :
a) World Environment Day
b) No Tobacco Day

c) The World Health Day
d) World Population Day

HRM is associated with the management of:
a) General People

b) Financial Resources

¢) Organizational People

d) Community members

A person who finds goods belonging to another,
and takes them into his custody, is subject to the
same responsibility as a:
a) Bailor
c) Bailee

b) Indemnifier
d) Guarantor

GST rates applicable on goods and services are:
a) 0%, 5%, 12%, 18%, 26%
b) 0%, 6%, 12%, 18%, 28%
c) 0%, 5%, 12%, 18%, 28%
d) 0%, 5%, 12%, 16%, 28%

The assets that can be easily converted into cash
within a short period, i.e., 1 year or less are
known as

a) Current assets
¢) Intangible assets

b) Fixed assets
d) Investments

The main object of Amalgamation is ..............
a) To maximum common benefits

b) To reduce Internal Competition

¢) To minimize Common Expenses

d) All the above

The Reserve Bank of India issues: ...........

a) all the currency notes

b) all the currency notes except the one
rupee note

¢) all the currency not hundred rupees note

d) only notes of Rs. 10 and above

National Horticulture Mission was launched in
a) 9th five years plan  b) 10th five years plan
c) 1ith five years plan d) 12th five years plan

Normal profits occur when:
a) AR>AC b) AR=AC
¢) AR<AC d) TR>TC
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a1 3 fam efonr €3 gerfonr famr 372
a) J<r b) fonH
c) A33H d) 3w

11 g8d § fagar foen Horfor AT 37
a) feme e3<gs feen

b) &Iy feen

c) fene fHo3 feen

d) fere wrar< feen

HRM fgat @ Ysus &8 gfamr Jfenr 3

a) WH 3

b) RSt 7I3

c) AASa3IHd 3

d) 89T Hag

fia fon@st 7 fan 99 &% ALO3 g 83T I,
W3 @t & et faews e 8er 3, g fam ©
TIIN et © wilts
a) =39

c) S

THW W3 AT '3 &g fMiAdt B9 g I8
a) 0%,5%, 12%,18%, 26%
b) 0%, 6%,12%,18%, 28%
c) 0%, 5%, 12%,18%, 28%
d) 0%, 5%, 12%,16%, 28%
Sore feg gefenwr 7 Ager J, < 1 'S A o/
Fuie, § a2 Afenr Aer 37

b) HWEH T &
d) Jrdeg

a) TIIHG AfeeT b) Afgg Afee<
c) WHURE Afee<e d) fo=m
Amalgamation B HH €SH ............ JI

a) =0 3 g WH TS B8

b) wiegal o= § wegE B

c) WH uIfon § vic g

d) BuI=3 7

I3t forge S 7t FITT I+ ...
a) A IIAT &S

b) S R 2 ¥e & &3 3 FY SO e
c) Al IJAT 100 UE B s § B3 A
d) fRdg 10 qug e e w3 =g

IHSI H9ES! HHG § foam wre @ 393 5g
3T famr 7?

a) 9% UA A®™ WAG™ b) 10 UA AS WAaT
c) NS U Ao wAsT d) 125 UA 7o wdsT

W &g 6% Jer I A
a) AR>AC b) AR=AC
c) AR<AC d) TR>TC
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Who is the writer of book "Wealth of Nations'?
a) Karl Marx b) William carrier
c) Adam Smith d) Robert Zawacki

‘Devaluation’ means:

a) converting rupee into gold

b) lowering of the value of one currency in
comparison of some foreign currency

¢) making rupee dealer in comparison to some
foreign currency

d) None of these

What is the state animal of Punjab?

a) The Black Buck Antelope
(Antilopecervicapra)

b) The Indian Wild Boar (Susscrofacristatus)
¢) The Sand Cat (Felismargharita)

d) The House Rat (Rattusrattus)

Diabetes is due to

a) enzyme deficiency
b) lodine deficiency

¢) Na'deficiency

d) Hormonal deficiency

There is no life on Moon due to the absence of
a) Oxygen b) Water
c) Hydrogen d) Water Vapour

How is Dengue fever transmitted

a) Bite of an infected female anopheles
b) Bite of an infected female aedes

c) Bite of an infected male aedes

d) Bite of an infected honey bee.

Why traffic “STOP” signals are of red colour?
a) Red colour has shotter wavelenghth among
colours

b) Red colour has longer wavelength among
colours

¢) Red colour no wavelength among colours
d) Red colour has maximum wavelengths
among electromagnetic radiations

In Gobar Gas, the maximum amount is that of
a) Butane b) Methane
c) Propane d) Carbon dioxide

The first domesticated animal by primitive man
was

a) Cat
¢) Dog

b) Cow
d) Horse
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34.

35.
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40.

ISY WE SHEH YASH T 3ud Jg I7?
a) IS HIIH b) fe@MH admig
c) WaH Afg d) Ir=gdc A<t

weHsE (f3<fBgens) T H3ma 3

a) gue g RS Ro sese

b) % feBH Heg™ ©f 38 <0 ftd Hed & Hs
c) 3% feH HEI™ & Hargd gue § Fi%g
gEgET

d) fegs &5 3 <& &t

g e IH Uy fogFr J7

a) I fII6 WY (WBYARTRTUT)
b) ISt A HI (FHAYCTGHETH)
c) I3 < & (SBAHIIITE)

d) W3 T g (ISHICH)

B9 341 f3H g Jer I?
a) WodEH T wre

b) wfe€s & anft

c) Na' T IHt

d) IINES I

for T wiedT 96 Iean '3 I8 Ailes &t 97
a) WIHHS b) uret
c) IEIAS d) Ut &t g2

39 gu9 R ener 7

a) g A3 Her Mofesa 99 &%

b) B AIIHI He &5 © O &8

c) R AaafH3 &d &5t & 99 &8

d) RS AagfH3 wige Hdt @ 9 &%

2fex "AeY" fieles &8 J41 © a6 I67?

a) TA I41 T Y= &' Jd1 T 3J91 €l 7S
EECEEIE]

b) TR JI T Y= &'H JIT T 3Ja1 BE A
ER:2=IISEINS)

c) TA S T HIreS & 341 & J& 31 S
&It 3

d) At fedadiaisicd IFens © Harad

TS II1 & 20 3 29 39T sTE I I

=g Jin feT A9 3 <0 W3 fam & 37

a) 936 b) HEs

c) Y& d) 996 SEWNEHES
e HEH ed Ufgs™ Us3 Aeed faagr #t?
a) faat b) I

c) d3" RIEY
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Trackball is an example of a/an .......
a) Programming device

b) Pointing Device

¢) Output device

d) Printing device

What is the full form of 10T?
a) Information of Technology
b) Internet of Things

¢) Internet of Technology

d) Incorporate of Things

What does UPI stands for.
a) Union Public interface
b) Unified Payment India
¢) Unified Payment Interface
d) United Payment India

URL stands for

a) uniform resource locator
b) uniform record locator

¢) unified record locator

d) uninterrupted data locator

Credit card, debit card and smart card is called
as .

a) instant money
¢) plastic money

b) deposited money
d) stored money

Agha Khan Cup related to which sport?

a) Hockey b) Football
¢) Kabbadi d) Tennis
Number of players in Kho-Kho

a) 11 b) 9

c) 7 d) 10

Which player was given the title of Flying Sikh?
a) Bhaudar Singh Chauhan

b) Harman deep Singh

¢) P.T. Usha

d) Milkha Singh

Which country won the gold medal in the Men’s
Hockey event at 2023 Asian Games?

a) Japan b) South Korea

¢) India d) Pakistan

The player who won two silver medals in 800m
and 1500m at 2023 Asian Games belongs to
which city ?
a) Patiala
¢) Mohali

b) Hoshiarpur
d) Jalandhar

41.

42.

43.

44,

45,

46.

47.

48.

49.

50.

oo g Geads I
a) Programming Device
b) Pointing Device

c) Output Device

d) Printing Device

loT & Yar gy &t 7

a) Information of Technology
b) Internet of Things

c) Internet of Technology

d) Incorporate of Things

g, (UPI) T H3ST 3t 37
a) Union Public Interface

b) Unified Payment India

c) Unified Payment Interface

d) United Payment India

URL T H3&9 3
a) uniform resource locator

b) uniform record locator

c) unified record locator

d) uninterrupted data locator
3fse I93, 3fac F93 W3 AT I9F &
fagr Aer |

a) instant money

b) deposited money

c) plastic money d) stored money

W ¥'s Y far 83 &% ASO3 I7

a) I b) IS
c) IIIr d) 2feA
g-y f&g fugamt < farest

a) 11 b) 9

c) 7 d) 10

foH fuzTat § e8feqT fify & fuzms 37 famr
Hr?
a) gJ=d iy a5

b) IIHSTY friy

c) W3 emr

d) fHaur iy

fagz @7 & 2023 2w 83t ffg ygn It
HI=S &9 AS 39 fHf3mr?

a) AUS b) THEt I

c) 393 d) UfdAs&

2023 gaMrEr B3t fdg 800 Hied w3 1500
Hieg o © ot @ 39M fi3e @ fuzat fanm
AT &% AEu3 7
a) Ufenrsr

c) NI

b) gfimraug
d) A%Tg
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60.

SECTION - B (Q.No. 51 to 75)

Which search giant has launched its Earthquake
Alerts System for smartphone users in India

a) Yahoo b) Google

c) Bing d) Yandex

Who is known as Father of India’s ‘Green
Revolution”

a) M.S. Swaminathan

b) Lal Bhadur Shastri

c) A. Kurian

d) None of the above

Indian spacecraft Chandrayaan-3, launched on
which date?

a) 23" August 2023
c) 23" June 2023

b) 14™ July 2023
d) 14™ July 2022

G-20 summit held at Indian Capital in
September 2023. Which of the following
became new member?
a) European

c) USSR

b) African
d) Asian

Which Indian Bollywood actor appointed as
brand ambassador of ICC World Cup 2023?
a) Shah Rukh Khan  b) Akshay Kumar
c) Deepika Padukon d) Salman Khan

Which TV channel has the India’s first regional
Al (Artificial Intelligence) news anchor?

a) TV9 b) Odisha TV
c) NDTV India d) ZEE News

The Prime Minister inaugurated the ‘Maze
Garden and Miyawaki Forest” in which state?

a) Gujarat b) Maharashtra

c) AndhraPradesh d) Karnataka

Which country is the leading producer of millets
with 41 per cent of global production?

a) China b) India

c) Bangladesh d) Indonesia

Which city hosted the 2™ Education Working
Group meeting under G-20 Presidency?

a) Mumbai b) Amritsar

c¢) Jodhpur d) Bengaluru

Which city launched the ‘Swachhata Train’
initiative as part of Swachhata Pakhwada?
a) Mumbai b) Ahmedabad

c) Mysuru d) Kochi
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52.

53.

54.

55.

56.

57.

58.

59.

60.

fag2 Agg fdam & 9793 €9 AHgCes
BUSIE= BE wUET ITH WHBIT THATH B9
EIESCK

a) wg b) JNIS

c) fdar d) W3dIH

far & 3793 & "It g3 T fuz fagr Aer I?
a) WHA. AeHieES

b) IS HIed HHII

c) B gIma

d) BuIa3 &3 Jat & &t

IIST US'F WS gedu's-3 foaH 39 § &g
3T famr 72

a) 23 WdTHS3 2023 b) 1L gSEr 2023
c) 23 g% 2023 d) 14 9o 2022

7 -20 fAyg 7RSS ASSd 2023 R 93 ©f
IS &g wfa3 3T famr A7t fegst &9

fagzT o< Agg gfowr?
a) gauis b) wadtstt
c) USSR d) Srhret

U 2023 T g3 wEA3T fogas ST famr 32

a) WIgH U6 b) SR IHI
c) Tfusr ygds d) ASHS 9&
faaz A< 968 '3 I93 T UfgsT 93t Al
(rIdtferms B28AR) foa wiag I7
a) TV9 b) G3tar i<t
c) oI BFmr  d) = fsEH

fimreret Ha’ T Gewes Ji3T?

a) JAI3 b) HIIHSI

c) WTOdr yer d) SIa<H

fagzr 2n fere fenmdt @3u<s © w1 yFims ©
&% THI T NI @3y I?

a) Oia b) II3

c) SI@eH d) fE3&SHMr

fog2 Afgg & G-20 T yoradit nidles Tt ffemr
I+ AYT T HIfETT & Aesmal sitSt?

a) Y& b) Wfi{3HT

) FOyg d) S98g

fgg2 Afgg & A3 b2 © IR = Aes3T
25" Ufgs gg &i5t?

a) Hed b) wiigHe=<T

c) AHg d) ot



61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

Which state has devised an ‘Action Plan to curb
paddy straw burning’?

a) Gujarat b) Punjab

¢) Haryana d) Uttar Pradesh
Nobel Prize-2023 in Medicine has been awarded
in the fieldof ........... ?

a) Covid-19 b) Influenza

¢) Dengue d) Hypertension

Who is known as the Rocket Women of
Chandrayaan -3?

a) Ritu Karidhal Srivastava

b) Kalpana Kalahasti

¢) Tessy Thomas

d) Nandini Harinath

What is the title of the short film made by the
Sports Authority of India on the athletes
participating in the Asian Games?

a) Chak De India b) Khelo India

c) Namaste India d) Halla Bol

Kuno National Park where cheetahs were
introduced is located in which state?

a) Madhya Pradesh b) Gujrat

¢) Rajasthan d) Maharashtra

Chandrayaan Mission's Pragyan rover has
confirmed the presence of which element on the
lunar surface?
a) Potassium
¢) Sodium

b) Sulphur
d) Chlorine

Name of the architect who designed new
parliament building?

a) Edwin Lutyens and Herbert Baker

b) Hasmukh Patel

¢) Brinda Somaya

d) Bimal Patel

Total number of matches that will be played in
ICC cricket World Cup 2023?
a) 40 b) 48
c) 46 d) 44

Which country was the host of the 15th BRICS
Summit in 2023?
a) India

¢) South Africa

b) China
d) Brazil

Who is awarded the Nobel peace prize 2023?
a) Narges Mohammadi

b) Malala and Kailash Satyarthi

¢) Vanessa Nakate

d) Greta Thunberg
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f5a3 g7 & UIH ArEs § JdE B Fan
U f3nvrg it 37

a) I3 b) Yrre

c) Ifanrer d) €33 y=n

NIrs 9 595 yarAarg-2023 fam 939 R
&3 famr 372

a) afe3-19 b) SHBT

c) 37 d) TEISIEHS

JeIus -3 T I THG T far § Afenr Jer
J?

a) 93 9IS HeHs=

b) IBUST ATSIAIT

c) SH BHA

d) &fcat Idted

T 93 &g I 3 @3 nadtet '3 3793t
93 WEIST e gee IS gt faBH T
I3y st 32

a) 94 T fEghr b) O &

c) SHAS S d) I =55

& SHGS U frig Sifsm § 05 o3 famr #,
foam g o Afez I7

a) HOQy<H b) IAI3

c) IHAES d) HJ9HSI
gedus HHG © Yfumis 399 & Jer < AFT '3
fam 33 & vigedt & urdt St 37

a) USTHMH b) IO

c) RIMH d) sBIs

&<t yggiie & fengs § famrdls ad6 @8
nrIeldee T &H?

a) W3fes TEE W3 II=de S99

b) IAHH USSH

c) @?w

d) s uds

wElHIH foare feme Ju 2023 R 93T @8 Ao
o g5 fare3t?
a) 4O

c) L6

2023 &9 152 oA ANSs T Aoes faas e
H?

b) 48
d) Ll

a) I3 b) Bt&

c) Ty wIdlar d) g%

2023 T &9% W3 yIAad fan § &3 famr 32
a) SIIH HIHE!

b) HES™ W3 AT AWIE

c) TSA A3

d) dJc" H&gIdT
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77,

78.

79.

80.

81.

82.

83.

84.

Where did Bhagwant Mann take oath as CM of
Punjab.

a) Chandigarh
c) Jalandhar

b) Khatkar Kalan
d) Sangrur

How many districts are there in Punjab?
a) 20 b) 23
c) 22 d) 25

Who is the present speaker of Punjab Vidhan
Sabha?

a) Kultar Singh Sandhwan

b) Rana K.P.Singh

c) Kewal Krishan

d) Nirmal Singh Kahlon

Who was the winner of Sahit Academy Award -
2022 for short stories ?

a) Khalid Husan
¢) Sukhijit Singh

b) Gurdev Singh
d) Mohan Singh

How many medals India won in Asian Games
2023?
a) 106
c) 107

b) 110
d) 109

71.

72.

73.

74.

75.

W3 WS & Ure © iy H3dh o1 7g 58 galt?

a) 9SNF b) HodF AB
c) #8ug d) HIIgd
e € fdé i 967?

a) 20 b) 23

c) 22 d) 25

Uy feas A9 T Hoger mdleg 3T J7
a) %39 fHy Age

b) Irer it fiy

c) =8 ffHs

d) foons iy aad
2022 T AZ AT HI?

a) Hf&< gAG b) JIe< iy
c) HYH3 iy d) NIs iy
THMITE 83T 2023 9 93 & & 31T fH3?
a) 106 b) 110

c) 107 d) 109

SECTION - C (Q.No. 76 to 100)

Suppose series is 6,11,21,36,56, ?. The number comes at the place of question mark in the given series is

b) 21

Marathon is to race as hibernation is to-
a) Winter b) Summer

c) 52

c) Sleep

d) 81

d) Bear

The day before yesterday was Saturday, what will be the day after tomorrow?

a) Thursday b) Friday
A Hospital always has ..........
a) Doctor b) Nurse

¢) Wednesday

c) Bed

d) Monday

d) None of the above

Shyam travels 7 km to the north. Then he turns to the right and walks 3 km. Then he turns to his right
again and moves 7 km forward. How many kilometers away is he from starting point?

a) 10 km b) 20 km c) 13km d) 3km

Inthe series 2,6, 18,54, ................. , what will be the 8th term ?

a) 4370 b) 4374 Cc) 7443 d) 7434

In a row of 60 persons, Ganesh is 26th from the left end. Find out his position from the right end.
a) 35 b) 36 c) 34 d) Cannot be determined
Find the missing alphabet in the given sequence: Z. X, V, T, ?, P. N

a) S b) R c) U d) Q

How many blocks are there in the given image?

a) 8 b) 9 c) 10 d) 11
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85.

86.

87.

88.

89.

90.

91.

92.

93.

94.

95.

96.

97.

98.

What will come in place of question mark (?) in the following series?
BZA, DYC, FXE, HWG, ?
a) VI b) JVI c) JWuU d) Vi
What will come in place of question mark (?) in the following series ?
8, 28, 116, 584, 3508, ?
a) 24560 b) 24660 c) 24760 d) 24860
Pointing to a girl, Karamjit said, "This girl is daughter of only child of my father". What is the relation of
Karamjit's wife to that girl?
a) Mother b) Daughter c) Sister d) Mother-in-law

Find the one word which cannot be formed from the letters of word 'ENVIRONMENT" using each letter
only once.

a) ENTER b) EMINET c) NET d) MOMENT
Insert the missing number in the given figure.

a) 22 b) 33 594 | 108

c) 11 d) 44

Choose the odd one from the given words

a) Volume b) Size c) Large d) Shape

Five girls are sitting in a row, Rashi is not adjacent to Sulekha or Abha. Anuradha is not adjacent to
Sulekha. Rashi is adjacent to Monika. Monika is at the middle in the row. Then, Anuradha is adjacent to
whom out of the following ?

a) Rashi b) Sulekha c) Abha d) Monika
Identify the wrong number in the series: 5, 11, 23, 47, 96, 191, 383

a) 96 b) 5 c) 11 d) 191

In the given table, find the missing number?

a) 26 b) 12 1 7

c) 16 d) 20 2 14 ?

3 105 | 127

Arrange the words given below in a meaningful sequence.

1.Presentation 2.Recommendation 3.Arrival 4 .Discussion 5.Introduction
a) 5,3,4,1,2 b) 3,5,4,2,1 c) 3,51,4,2 d) 531,24
Find out the number which is different from the rest in the following numbers.

11, 13, 15, 17
a) 11 b) 13 c) 15 d) 17

The ratio between the present ages of Indu and Salim is 3:8 respectively. After 8 years, Indu’s age will be
20 years. What is Salim’s present age?
a) 24 years b) 27 years C) 28 years d) 32 years

A person completes a journey of 48km in 2 hours. How much time will he take to cover a distance of 252
kms.
a) 10 Hours b) 11 Hours ¢) 10.5 Hours d) None of these

In a class of 35 children Rakamyjit’s rank is sixth from the top, Gurpreet is seven rank below Rakamyjit.
What is Gurpreet’s rank from the bottom?
a) 22 b) 20 c) 19 d) 23
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99.

100.

101.

102.

103.

104.

105.

106.

107.

108.

1009.

110.

111.

112.

Ravi, Mohan and Govind can complete a task in 12 days.10 days and 15 days respectively. In how many
days can Ravi, Mohan and Govind together complete the same task?
a) 8 b) 4 c) 2 d) 6

If the difference between compound interest and simple interest on a certain sum of money for 3 years at
5% p.a. is Rs.122, then the sum is
a) Rs.25000 b) Rs.19000 ¢) Rs.16000 d) None of the above

SECTION - D (Q.No. 101 to 125)

Directions (Q No. 101) Choose the correct option:

weight gain or weight loss is not good for your body.
a) explosive b) expressive C) extensive d) excessive

Directions (Q Nos. 102-103) Fill in the blanks with the appropriate word

The Air India concessional tickets these days.

a) isissuing b) issues c¢) have issued d) issued
The chairman is ill and we will have to the meeting for a few days.

a) puton b) put of C) put away d) put off

Directions (Q No. 104) Select an option that conveys more or less the same meaning as the bold
word in the sentence:

These tribes normally have a nomadic way of life.
a) military b) simple ¢) wandering d) war like

Directions (Q Nos. 105-106) Fill up with the correct alternative in the following sentences:

I am sorry the mistake.

a) from b) with c) for d) at
He is superior me.

a) than b) to c) from d) with

Directions (Q Nos. 107-108) Fill in the blank with the correct option

Today, the Indian telecom network is the second largest in the world China, which leads this
sector.

a) besides b) preceding c) earlier d) after

He the gathering in impressive English.

a) directed b) approached ¢) undertaken d) addressed

Directions (Q No. 109) Choose the correct option for the bold part of the sentence:

The moment they saw me, they were delight.
a) was delight b) were delighted c) are delighted d) no improvement

Directions (Q No. 110) Fill up with the correct option:

Health is too important to be :
a) neglected b) detested c) despised d) discarded

Directions: Find the misspelt word
a) foreiner b) across c) absence d) calendar

Directions: Find the correct spelt word:
a) affedevit b) afidevit c) affidevit d) affidavit
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Directions (Q Nos. 113-114) Select the most appropriate option to fill in the blank:

113. Itis very difficult for her to .
a) keep asecret b) touch a secret c) make a secret d) cry a secret

114. We decided to as we were missing him a lot.
a) give a visit b) take a visit ¢) bring in a visit d) pay him a visit

Directions (Q Nos. 115-116) A part of the sentence is bold. Choose the correct alternative.

115. In order to look taller, we should use pencil heels instead block heels.
a) Instead of b) despite c) inspite of d) instead by

116. You must apologise with him for this.
a) to b) of c) for d) no improvement

Directions (Q Nos. 117-119) Fill in the blank with the correct option.

117. He is very good making stories.

a) in b) about c) at d) for
118. A man by the police last night.

a) arrested b) was arrested C) was arresting d) were arrested
119. The war in 1939.

a) start b) will start c) is starting d) started

Directions (Q No. 120) Select the most appropriate one word substitution for the given word:

120. A place where birds are kept is called
a) aviary b) house c) aquarium d) apiary

Directions (Q Nos. 121-122) Choose the correct option:

121. A life history written by somebody else
a) Biography b) Autobiography ¢) Anthropology d) Zoology

122. An instrument to measure body temperature
a) Barometer b) Monometer ¢) Microscope d) Thermometer

123. Give Synonym for : Cancel
a) Abolish b) Approve c) Allow d) Break

Direction: Choose the correct alternative for the underlined part of the sentence

124. She is my better half.
a) Wife b) Partner ¢) Cousin d) Sister

Direction: Choose the option that conveys more or less the same meaning of the given word.

125. Pleasure
a) Comfort b) Warming ¢) Reason d) Happiness

SECTION - E (Q.No. 126 to 150)

126. Ufgs™ wgfes UArst a=t de Hionr aer 372
a) S€ J9TH b) €S9 iy c) e AfIE iy d) JHgs fify

127. THEI & wue fIAT Jig far g &9 e
a) 53 b) AII c) g3 d) Teur
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128.

129.

130.

131.

132.

133.

134.

135.

136.

137.

138.

139.

140.

141.

142.

143.

144.

HIIH Jerits Y & foadt 37 § AIarat 97 ©@ 39 '3 wyerfan?

a) wast b) fJet c) STIH
ity 73 Bfgg < AgUE o< J9?

a) 1873 b) 1883 c) 1893
Uit T 78 3 ufos foartatt fagg 37

a) IIHI b) I I c) THIS
JOHH T I faaz &+ I?

a) HIHH b) <aat c) U3 whudt
a) 3 b) 7 c) 10

T &g &'e &y fagz I- “Age 5o 93 faar I
a) AJE b) Sor c) Age Sor

YT 35 AGHA T 8 far § Hionwr Aer 37
a) I SGA TR H  b) & A fHyY

WA S g ©F 993" 3 J7
a) I &I H  b) I WHITH Al

Jo Bt f&5 At T ufgsr &8 fgazT I7
a) IS HFS Y b) fde sy

SgIdl & wIE § A J BT § o Jfde 967

a) T3 II&" b) =T c) AZH

foge fod foadt goardt < fami adf 37

a) g4l b) f3&-U33 c) 8HH
fagdt 3 93 adt I?

a) IS b) SIBI c) Y=g <t gt

Urrslt 7z e wids fag? Arfaz-gu 3 Ifemr?
a) & b) &S c) IIet

HII Ient3 iy T Tggat Jet fdagr 97

a) HJ IJAS b) I HIHE c) ITHHI
s ... & 2, G A & SEP 9@t 8 33)

a) ASOI b) fimig c) YAt
I 219 W § A3 wiareHt UgAarg < THign?

a) 1955 b) 1956 c) 1957
=g fous o fan 8 & @93 It I?

a) UGSt 8 b) S3 & c) TIT &<

14

c) IE I&EMT A

c) Jg WIAS BT At

c) HIr T T

d)

d)

d)

d)

d)

d)

d)

d)

d)

d)

d)

d)

Uarst

1863

U3e < g3t

SERRCEY

HJ MEH

1954



145, sifont <t SegrASt B8 8 faA W3 S YA 9T I6?

a) I3t H3" b) FIZS& H3" c) BHS H'3T d) fI3yIat 3w
146. WIH AJIG 2 far wiar T afger I7

a) g b) Jg c) 09 d) d&
147. st T UfgsT S Hate™ faazT 37

a) Ug b) HW c) Sdre d) 93
148. fogst fod fqg3™ 893 AT &% A3 &J1?

a) HImr b) HIST c) & d) 2O
149. fogs fod fagzr ifge Uarst yfews W8 '3 &t ArGer?

a) gHEr b) SITT c) HEt d) SHaT
150. 9% I3 STH T A=< I?

a) WI= b) It c) Yrrsit d) HAf3

ROUGH WORK
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107
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110
111
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114
115
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76
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